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EV3102-030K—-HR1 (UL)

AC 18 Ak HA W) 260~530Vac (3W+PE)
#Ho 99 AF(A) 58
T3+ 14 (Haz) 45~66
PF >0.99
THDi <5%
DC =9
&4 >96%
DC &9 A H9 (V) 150~1000
A9 29 Ag HA W) 300~1000
=9 49 kW) 30
A =9 A7) 100
71Ef u] F B
7] e AuE (W) <75
25 % (dB) <6542
A7 23 AE= <+1%
A4 24 g <+0.5%
=8 A 23k <+0.5%
=9 A% o4 = +0.3A, 30A ©]3}] 3l AF, = £1%, 30A°] F3F AiF
A 9Ex AR <110%
2= AT =+0.02% (FZF 3 +20° C)
T s 583 <+3.0% (X20A), 50%~100% ¥ $ W2 F3}
=9 g5 YE A Hug < 1% FE 7 A <0.5%
A QW FE WY OHGFE &
8 A7 3~5&(F5 F2 dstel disl A A4 =)
T4 (WXDXH) mm 300%462% 86
% (kg) <16.5
Ay th7] & AY (Var) 750
EMC Class B
T H RS
e 3EA A, AR, 1%
&2l CAN(500kbps) + HAEd A9 A%
AC 19 3% £%3 s YES
AC S8 FA/AAY B3 YES
DC =8 HAW/AAL 1S YES
Hd BT 0 755 o) o] thit BF, 70% o]l A AE Bt
2 AF Al e YES
Gt BE YES
25 373
L% (m) =2,000(2,000 ©]’e] s ellA] g2 7ha)
ZE L= 0 —40~75, 55% o429 2ToM 8 A i
By 22 0 —40~75%
= 5%~95%
o A9 A7 A Ak upet AP,
o A AR 317 §lo] WAE 4 FH T,



